C TR EE R E (BKE)



TR SR AR

® @
Bl BKAE  |RERR AR
B
DIP ¢ 100 | DIP ¢ 100 | VP ¢ 100 A& &ed
DP=1.2m | DP=1.2m | DP=1.2m
HiiE 398U | HiE 39| dijE 394U
AlZER ) T t=5cm m| 411.2 13.6 74.0 498.8 500
F e -Sn o N I e R R I R R
0.20BH t=10cmLL K | nf| 157.6 6.1 22.2 185.9 186
b T 0.20BH | 197.7 10.5 27.8 236.0 | 240
LT (R 1) 0.20BH i 0.0 0
HET (A T) 0.20BH | 143.9 8.4 20.6 172.9 170
By T A+ m| 37.8 1.2 4.9 43.9 44
By T AS m| 7.9 0.3 1.1 9.3 9
WALNAMER
TS T t=18cm nt 0.0 0
WALAMER
TE AT t=19cm | nf| 157.6 6.1 22.2 185.9 186
LERE S e N I R R R R R R N R
FEAE T t=15cm  |nf| 157.6 6.1 22.2 185.9 186
HAESRET A2
e T (HE) t=5cm PK3 |[nf| 157.6 6.1 22.2 185.9 186




IERAERTER

B5 TR 4 B e £k &
O EKE HE 397 DIP ¢ 100 1.20  249.3-6.8 242.50
@  BKRE HE 397 DIP ¢ 100 1.65  6.80 6.80
PERvE A EhE 39% VP ¢ 100 1.20 37.00




+TEHEE
HE 397
Bic K &

DIP ¢ 100mm DP=1.2m

R R DIP ¢ 100 MRS 127 m
SR 0.05 m BeEE 093 m AL
BIFO 0.100 m B 019 m @B
AR 0.118 m BAE 015 m  FEEE
FHE S RS 065 m AS 0.05 m
PRHI R 242.50 242.50
SRR T
t=5cm 162.20 2 + 86.80 X 1 = 411.2
EfiE R EUE T
As t=10cmPL 242.50 0.65 = 157.6
FE AR T
0.65 1.27 - 0.114 2
7 = 4 ) X 242.50 = 197.7
WERT (B4E+)
0.65 0.93 - 0.118 2
X
7 = 4 ) X 242.50 = 143.9
Ay T4 +) Skt
197.7 143.9 + 0.9 = 37.8
Ly T.(AS)
157.6 0.05 = 7.9
T E A T
FAYIARA t=19cm 242.50 0.65 = 157.6
RC-40
LT
FARFRE t=15cm 242.50 0.65 = 157.6
RM-40
F=ET
HABRET 270 t=5cm 242.50 0.65 = 157.6

PK—3




+TEHEE
HE 397
Bic K &

DIP ¢ 100mm DP=1.65m

R R DIP ¢ 100 MRS 172 m
HEWE 0.05 m BEE 138 m R+
IO 0.100 m Bz 019 m  TRERE
AR 0.118 m BAE 015 m  FEEE
FHE S RHIE 090 m AS 0.05 m
PRHI R 6.80 6.80
EEE IR T
t=5cm 6.80 2 + = 13.6
SR T
As t=10cmPL 6.80 0.90 = 6.1
P Ak A T
0.90 1.72 - 0.118 2
7 = 4 ) X 6.80 = 10.5
WERT (B4E+)
0.90 1.38 - 0.118 2
X
7 = 4 ) X 6.80 = 8.4
Ay T4 +) A+
10.5 8.4 - 0.9 = 1.2
Ly T.(AS)
6.1 0.05 = 0.3
T E A T
FAYIARA t=19cm 6.80 0.90 = 6.1
RC-40
LT
HAERREE t=15cm 6.80 0.90 = 6.1
RM-40
F=ET
TR R EE 7 23 t=5cm 6.80 0.90 = 6.1
PK—3
+8T
TV 2 KA H=2. Om 6.80 = 6.8

SIS




+TEHEE
HE 397

VP ¢ 100mm DP=1.2m

R R VP ¢ 100 MRS 127 m
HEWE 0.05 m BeEE 093 m AL
IO 0.100 m Bz 019 m  TRERE
AR 0.114 m BAE 015 m  FEEE
FHE S RHIE 060 m AS 0.05 m
PRHI R 37.00 37.00
EEE IR T
t=5cm 37.00 X 2 + 0.60 X = 74.0
SR T
As t=10cmPL 37.00 X 0.60 = 22.2
P Ak A T
0.60 X 1.27 - 0.114 2
X 7 = 4 ) X 37.00 = 27.8
WERT (B4E+)
37.00 X 0.60 X 0.930 = 20.6
A TG4 1) A+
27.8 - 206 =+ 0.9 = 4.9
Ly T.(AS)
22.2 X 0.05 = 1.1
T E A T
FAEYARA t=19cm 37.00 X 0.60 = 22.2
RC-40
LT
HARMMA t=15cm 37.00 X 0.60 = 22.2
RM-40
F=ET
TR 7 23 t=5cm 37.00 X 0.60 = 29.2

PK—3







ALK EAMRE
GXJ& ¢ 100mm

woE L B 1% o O& | B L
H A X T ¢ 100 246.8 m
BBk F W W T ¢ 100 10 i
% = T EE ¢ 100 61 M
% = €T RIZE ¢ 100 16 H
s & T GU>7 ¢ 100 12 I
s & T PULZ ¢ 100 0 I
it 9 » & B L A71 ¢ 100 5 5
A ERE L A, 15 5 & T
WOk B OB B L N7) HnO 2 & T
#ook & E T N7 HA 0 s T
Z2EZ VA S S ¢ 75 4 M
by vy — MRy ) AR E T M35 2 1
AT = Hh vk FE L %k ¢ 100 1 i
v W or 7 — 7 L ¢ 100 317.2 m
¥ W or v — b T 245.5 m
BBk F W W T ¢ 100 0 i
woe % 9 W T ¢ 100 2 ]
AT =TV ikFE AL T %k ¢ 100 2 i
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vires

I R

B
il o i RETL zEE CETEE TESEE|  FNTEE g P B e | Tl ] ket | pek s »
ki
5 e = =0 o o o o d 75X $ 100X ¢ 100X $ 150X b THX ¢ 100X . o "
ERES N g i 45 22 11 1/4 45 22 H300 H450 »75 675 5100 100 »75 675 75%400 75%500 75%200 B B 500690 | 500X690
GX ¢ 100 56 1 1 3 3 3 0 2 2 2 2 2 1
5 61
i 56 5 61 1 1 3 3 0 0 3 0 0 2 2 0 2 2 2 0 1
A ITR AR ) TR el WU DL Il
S N o _ . . * ISIVT BT e R R e
[DESEEe I TR 745 GUvz PUL 2 gt b FiZ
R ZHRL 5% BRI DIPH VP \%e VP ¢ 75 \XP(‘;’;; DIP ¢ 150
GX 100 2 5 0 5 16 14 12 1
163 | 245.5
i 2 5 0 5 16 14 12 0 1
B O£ AR T T [EK s | curs | puy A EZIEY " BET o | U8 SN PRRE | e Y
- 4 Foy A ] BT VPoT5 aEr | 77T y=hT G T YT BT
M| ABE | AS A ROE | 3t ik veots |00 | s ik
GX 100 246.816 16 12 5 5 2 4 2 1
10 61 317.2 | 2455
3 246.8 10 61 16 12 0 5 5 2 0 4 2 1 317.2 | 245.5 0 2 2




MRS

GXJ% ¢ 100mm i Hl T R 249.266
DP=1.20m AR R 246.816
# Bl Bl & MEHER & HE R

iR & GX& 4.000 56 224.000
H 4] (=4 GX% 2.150 1 2.150
H ] & GX%& 1.810 1 1.810
H 4] (=4 GX% 1.180 1 1.180
H ] & GX%& 2.120 1 2.120
H 4] (=4 GX% 1.310 1 1.310
Z ) & GX& 1.090 1 1.090
Z ) et GX* 1.480 1 1.480
Z =) & GX& 2.640 1 2.640
Z ) et GX* 1.340 1 1.340
Z ) & GX& 1.470 1 1.470
] et 45° 0.420 1 0.420
] % i & 45° 0.160 3 0.480
] et 22° 0.380 1 0.380
i & 11° 0.360 3 1.080
Z == et H=450 0.780 3 2.340
- % T F & | $100X ¢100 0.590 0 0.000
F o T F & | 6100X¢75 0.440 2 0.880
2 VA ¢ 75 X 400L 2
i fE | DM
S R RCE N Nk 2
#e T X W ok & H
AT L AR 2T ke O 2
1H X Es & | ¢500X690H 2 (FHELe)




MRS

GXJ¥% ¢ 100mm e Bl E R 249.266
DP=1.20m AT R R 246.816
2z E B 1% EHE & o R I R
Pk K T f# | ¢500Xx690H (FELe)
Ak i ¢ 100 0.200 1 0.200
Y 7 b ¥ o— v AR ) | AL ¢ 100 0.490 5 2.450
V7 by — AR W ¢ 100 0.180 0 0.000
Tt o 7 & M A |H=510~690mm || H R 5
] % 51 “ ¢ 100 0.020 2 0.040
% = gl il RIpE 16
% = 0 TS FAF 0.029 14 0.406
% = il e GV 12
E e #§ | DIPAH ¢ 100 1




B —MNEHFE

(=2 7 ¢ 100mm B
EATBOE R 246.816
ERAREA R4 2

0.664
| 245.488| | | | 245.488 |
% G | 245.5 | 0.0 | 0.0 | 0.0 | 245.5 |
HBRRRT—THIER
(=4 7 ¢ 75mm ¢ 100mm z
JEL 4 56
) E 5
Mo K 317.2 317.2
1ARHTY 4.7 5.2
% G 0 15.86 0 0 16

%:/20m



o) E R E GXJE ¢ 100mm L=4.0m/7<

BRIk LU LU LU LU ' SE)E FRAE Gl
1 2.150 1.090 0.760 2
2 1.810 1.480 0.710 2
3 1.180 2.640 0.180 2
4 2.120 1.340 0.540 2
5 1.310 1.470 1.220 2
6
7
8
9
10
11
12
7 10
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T LB X
@ @) ©) @ ®
GRREARR | EREAR 537K LS ES IR R
A e
PP 650 PP 50 DIP ¢ 100 PP 50 PP 650 i
DP=1.2m
W600 W300 W600 W300
SIS T | t=15cmBL F 419.0 36.0 12.0 467.0 470
AR
0.20BH t=15cm2l F 246.0 10.8 4.0 246.0 10.8 517.6 518
R T 0.20BH 36.9 1.6 4.6 34.4 1.5 79.0 79
SRR T (S 1) 0.20BH 3.2 3.2 3
ST (1) 0.20BH 0.0 0
HETGE/ERr)|  0.20BH 34.4 1.5 35.9 36
ALY T 4+ 0.2 -0.1 4.6 34.4 1.5 40.6 41
ALY T AS 12.3 0.5 0.2 12.3 0.5 25.8 26
FHEBLARA
FIE AT t=19cm 4.0 4.0 4
AR
-8 e 1 t=15cm 4.0 246.0 10.8 260.8 261
FEARRRLIE T A
#JE L(#3E) | t=5cm PK3 246.0 10.8 4.0 246.0 10.8 517.6 518




IERAERTER

A

= AX =
il nom nE | - &
O (EREAE HE 39 ppeso(weoo)  0.14  187+187+36 410.00
@ EREATRE EOE 39 ppesowson)  0.14 36 36.00
@ | AERGK HOE 397 ¢ 100 1.20  2f& 1 X 2.0m 4.00
@ NEEWE BGE 395 ppesoweon)  0.14  187+187+36 410.00
® RERERE HE 39% pPesows00)  0.14 36 36.00




+TEHEE
HE 397
IREREATRR W600

PP ¢ 50mm DP=0.14m

R R PP ¢ 50 MRS 0.150 m
SRR 005 m B E  0.150 m  HAERH
BIFO 0.050 m R m  FERE
AR 0.060 m R m ERER
FHE S RHIE 060 m AS 0.05 m
PRHI R 410.00 410.00 m
EfERR BT T
t=5cm 9.00 X 2 + 401.00 X 1 = 419.0 m
S IR U T
As t=10cmLL T 410.00 X 0.60 = 246.0 m
R ) T ‘
410.00 X 0.60 X 0.150 = 36.9 m’
HET (RAENA)
0.60 X 0.150 - 0.060 2
7 ~ 4 X 2.2 )X 410.00 = 34.4 m®
7% Ay TR AAAT) RERAT ‘
36.90 - 3440 = 0.9 = -1.3 m®
(W= )
7% 1005y T(AS) ‘
246.00 X  0.05 = 12.3 m®
FET
BABRIET 27 t=5cm 410.00 X 0.60 = 246.0 m

PK—3




+TEHEE
HE 397
REREATRR W300

PP ¢ 50mm DP=0.14m

R R PP ¢ 50 MRS 0.150 m
SRR 005 m B E  0.150 m  HAERH
BIFO 0.050 m R m  FERE
AR 0.060 m R m ERER
FHE S RHIE 030 m AS 0.05 m
PRHI R 36.00 36.00 m
SRR T
t=5cm 0.00 2 + 36.00 X 1 = 36.0 m
EfiE R EUE T
As t=10cmLL T 36.00 0.30 = 10.8 m
R ) T ‘
36.00 0.30 X 0.150 = 1.6 m’
HET (RAENA)
0.30 0.150 - 0.060 2
7 4 X 1.0 )X 36.00 = 1.5 m’
7% Ay TR AAAT) RERAT ‘
1.60 1.50 =+ 0.9 = 0.1 m°
(W= )
7153 T(AS) ‘
10.80 0.05 = 0.5 m®
FET
HABRET 27 t=5cm 36.00 0.30 = 10.8 m

PK—3




+TEHEE
HE 397
RSy 7K

¢ 100mm DP=1.2m

R R ¢ 100 MRS 1.150 m
SRR 005 m BeEE  0.810 m pokik B+
BIFO 0.100 m B 015 m  FERmE
AR 0.118 m BAE 019 m  FEERE
FHE S RS 1.00 m AS 0.05 m
PRHI R 4.00 4.00
SRR T
t=5cm 4.00 2 + 1.0 X 4 12.0
EfiE R EUE T
As t=15cmPL T 4.00 1.00 4.0
FE AR T
1.00 1.150
X 4.00 4.6
WERT (hiktgRE 1)
1.00 0.810
X 4.00 3.2
Ay T4 +) Skt
4.60 0.00 =+ 0.9 4.6
¥ AL T.(AS)
4.00 0.05 0.2
T E A T
FAYIARA t=19cm 4.00 1.00 4.0
RC-40
LT
HARFERA t=15cm 4.00 1.00 4.0
RM-40
F=ET
HABRET 270 t=5cm 4.00 1.00 4.0

PK—3




+TEHEE
HE 397
IEREfE W600

PP ¢ 50mm DP=0.14m

R R PP ¢ 50 MRS 0.150 m
SR 0.05 m FEAR R m
BIFO 0.050 m R m  FERE
AR 0.060 m BAE 015 m  FEEE
FHE S RHIE 060 m AS 0.05 m
PRHI R 410.00 410.00 m
SRR T
t=5cm X + X = 0.0 m
EfiE R EUE T
As t=10cmLL T 410.00 X 0.60 = 246.0 m
P AR HI T 0.60 X 0.150 - 0.060 2
7 ~ 4 X 2.2 )X 410.00 = 34.4 m’
HET (RAENA)
0.60 X 0.000
) X = 0.0 m®
7% Ay TR AAAT) RERAT ‘
34.40 - 0.00 = 0.9 = 34.4 m®
7 HA5 T(AS) |
246.00 X  0.05 = 12.3 m®
LT
FARFIRA t=15cm 410.00 X 0.60 = 246.0 m
RM-40
FET
HABRET 270 t=5cm 410.00 X 0.60 = 246.0 m

PK—3




+TEHEE
HE 397
IERERE W300

PP ¢ 50mm DP=0.14m

R R PP ¢ 50 MRS 0.150 m
SR 0.05 m FEAR R m
BIFO 0.050 m R m  FERE
AR 0.060 m BAE 015 m  FEEE
FHE S RHIE 030 m AS 0.05 m
PRHI R 36.00 36.00 m
SRR T
t=5cm X + X = 0.0 m
EfiE R EUE T
As t=10cmPL 36.00 X 0.30 = 10.8 m
P AR HI T 0.30 X 0.150 - 0.060 2
r =+ 4 X 1.0 )X 36.00 = 1.5 m’
HET (RAENA)
0.30 X 0.000
) X = 0.0 m®
7% Ay TR AAAT) RERAT ‘
1.50 - 0.00 = 0.9 = 1.5 m’
7 HA5 T(AS) ‘
10.80 X 0.05 = 0.5 m®
LT
HAKGEEG t=15cm 36.00 X 0.30 = 10.8 ni
RM-40
F=ET
HABRET 270 t=5cm 36.00 X 0.30 = 10.8 m

PK—3
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Rl R B

G A H # ¥ o® | B AL
Bz FLo&HAa3T ¢ 50 928.0 m
b = V&M% T $ 20 16.0 m
b = V&% T ¢ 25 1.0 m
b = V&M% T ¢ 30 8.0 m
b = V&% T ¢ 40 2.0 m
b = V&% T ¢ 50 7.0 m
R T F Lo &fkF L $20 32 H
AU T F Lo &fkF L $25 2 M
AU T F Lo EfkF L ¢ 30 16 H
AU T F Lo EfkF L ¢ 40 6 H
BV FLo&#HF LT ¢ 50 240 i
LRk & H5& L ¢ 20 48 H
Lk » & E& L $ 25 3 H
Lk A #HE H& L ¢ 30 24 H
Lk & E& L ¢ 40 6 H
Lk A G5 L ¢ 50 89 H
Lk & G5 L ¢ 65 3 H
PRV Gy oK R A L DIP ¢ 75X ¢ 50 0 AT
PRV Gy oK R A L DIP ¢ 100X ¢ 50 0 AT
PRV Gy oK R A L VP ¢ 100X ¢ 50 8 AT
- 7 B fF T ¢ 50 0 (S0
S I = 7 = R ¢ 50 0 (S0
S I = 7 = R ¢ 20 23 (S0
S I = 7 = R $13 11 (S0
KRB AN VT R E T VP ¢ 100 0 H
AR ERE L HY 0 (S0
BE G% & Mk F He b L T ¥5k DIP ¢ 100 0 o
BE §% & Mk F He st L T ¥5k DIP ¢ 75 0 o
BE & & 9 W L DIP ¢ 100 0 o
BE & & 9 W L VP ¢ 100 1 o
A=y ik F L WiE ¢ 100 0 =
A= ok FE L ¥k ¢ 75 0 I
A=y ik F L gk ¢ 100 1 =




HEFFRIFHE &

CESS

BTV VoW F AT BT H—| ART LT H— | 5107V 7k Vg =o)L [WEKRETE T = R AR LTV s b ki S
¢ 13mm 0 0 0 0 0 0 0 0 0
¢ 20mm 0 0 0 0 16 16 0 0 16
¢ 25mm 0 0 0 0 1 1 0 0 1
¢ 30mm 0 0 0 0 8 0 0 8
¢ 40mm 0 0 0 0 2 0 0 2
¢ 50mm 8 56 8 31 22 7 3 8 7 4
HYZF L AFRET T *2 *]1 *]1 *2 *2
NCABEA L *]1 *2 ¢ 65(*1) *1 *1 *1
%9715
EAT: 1 DIP ¢ 753 ¢ 50 AT
Ay=FL T AUIALIEA T SyKIETAL T I;I;’:,b-l:)(-):k-d;;() ---------- & A
6 13mm 0 0 ol oz 8 |
¢ 20mm 32 48 a7 W] ¢ 50 & T
¢ 25mm 2 3 RS L] ¢ 50 & AT
¢ 30mm 16 24 ¢ 40 & T
¢ 40mm 6 6 ¢ 20 23 & AT
¢ 50mm 240 89 ¢ 13 11 & AT
¢ 65mm 3




R



REBH BRI R &

MR P ok

RYxzFL 4% ¢ 13 00 m

¢ 20 0.0 m

¢ 25 00 m

¢ 30 0.0 m

¢ 40 00 m

¢ 50 928.0 m

HIVP ¢ 13 0 K

$20 4 K

625 1 K

¢ 30 2 K

¢ 40 1 K

¢ 50 2 K

H TV Tk 613 0 &
620 0 &

625 0 f&

¢ 30 0 {A

¢ 40 0 f&

¢ 50 8

FART BT — ¢ 13 0 f&
20 0o A

625 0 f&

¢ 30 0 {A

¢ 40 0 f&

¢ 50 56 &

ART BT H— ¢ 13 0 f&
20 0o A

625 0 f&

¢ 30 0 {A

¢ 40 0 f&

¢ 50 8

T TV T TR $13 0 f#
20 0o A

625 0 f&

¢ 30 0 {A

¢ 40 0 f&

¢ 50 31 &

KRthy 7V 7F—=x 650X ¢ 13 0 f#
$50% 620 16 M

650X ¢ 25 1 &

¢ 50X ¢ 30 8 A

¢ 50X ¢ 40 {i&

¢ 50X ¢ 50 22 &




REBH BRI R &

A

i

i

B
A= L7 613 0 f&
$20 16 {&
¢ 25 1 &
¢ 30 8 A
¢ 40 (&
¢ 50 26 A
=7 613 0 ﬂﬁl |
¢ 20 16 {&
625 1 &
¢ 30 8 A
¢ 40 2 &
¢ 50 7 A
BB TR ¢ 65X50 3 A
kAT X T H— ¢ 65 3 A
INVT IR A (SR L) ¢ 150 56 {@&
VP ¢ 100X ¢ 50 8 A
WAWIZERAVIR S DIP ¢ 75X ¢ 50 0 f#
(fad=>E7 1) DIP ¢ 100 X ¢ 50 0 @
HI /LR 13 0 M
$20 48 A
625 3 A
¢ 30 24 1A
¢ 40 6 &
¢ 50 21 &
HIY A7k ¢ 13 0 fE
$20 0 {A
625 0 f&
¢ 30 0 {A
¢ 40 0 f&
¢ 50 0 fA
HIF > $13 0 f& |
¢ 20 16 &
¢ 25 1
¢ 30 8 A
¢ 40 2 A
¢ 50 7 A
HIS VT sk ¢ 13 0 fE |
¢ 20 16 {&
¢ 25 1
¢ 30 8
¢ 40 2 A
¢ 50 7 A
FCD&E 2 1iE VP ¢ 100 1 fa
FCDE#21E DIPH ¢ 100 0 {#
FCDE#21E DIPH ¢ 75 0 {#
NKKEF YT g ¢ 50 4 fH
AWk ST VPH ¢ 100 0
FCDALUI A& fE& R 0 i




R —5

%, w7 M T By 7V | TV 2 ’ :
75 fﬁ o %R ave | TN T A || e | R | s (R W "weals s | SV | HI
mEARR | wl F | Lk ,x | . bo5x 050 | 757 —| Bemgtso | VCRe | MR | 00 | o [H 7o Rk A
% | omo | BB | mo | R DR | AR | DR | S| R | | DR R MR | R | AR A | e Gk Gk E
: S S S % s | e | | ng | | nee | e e | g k| s
50X 30 1 30 1
2 30 | HI| 13 BER% 30 1.0 30 1.0 ; : : ; : ; : ; :
. 50 X 30 1 30 1 30 1
3 20 | HI'| 20 BER% 20 1.0 20 1.0 : ; : ; : ; :
5020 1 20 1 20 1
4 30 | HI| 13 BER% 30 1.0 30 1.0 : ; : ; : ; :
50X 30 1 30 1 30 1
5 20 | HI'| 20 BER% 20 1.0 20 1.0 : ; : ; : ; :
5020 1 20 1 20 1
6 50 | HI'| 20 BER% 50 1.0 50 1.0 : - : . : . :
50X 50 1 50 1 50 1
7 30 | HI| 13 BER% 30 1.0 30 1.0 : ; : ; : ; :
50X 30 1 30 1 30 1
8 50 | HI'| 20 BER% 50 1.0 50 1.0 : - : . : . :
50X 50 1 50 1 50 1
9 40 [ HI | 20 BER% 40 1.0 40 1.0 : p : ; : ; :
5040 1 40 1 40 1
10 50 | HI'| 20 BER% 50 1.0 50 1.0 : . : . : . :
. 50 X 50 1 50 1 50 1
11 40 [ HI | 20 BER% 40 1.0 40 1.0 : ; : ; : ; :
. 50 X 40 1 40 1 40 1
12 20 | HI'| 20 BER% 20 1.0 20 1.0 : : : : : : :
. 50X 20 1 20 1 20 1
13 20 | HI'| 20 BER% 20 1.0 20 1.0 : ; : ; : ; :
. 50X 20 1 20 1 20 1
14 20 | HI'| 20 BER% 20 1.0 20 1.0 : ; : ; : ; :
. 50X 20 1 20 1 20 1
15 20 | HI'| 20 BER% 20 1.0 20 1.0 : ; : ; : ; :
. 50X 20 1 20 1 20 1
16 20 | HI'| 20 BER% 20 1.0 20 1.0 : ; : ; : ; :
. 50X 20 1 20 1 20 1
17 20 | HI'| 20 BER% 20 1.0 20 1.0 : ; : ; : ; :
. 50X 20 1 20 1 20 1
18 20 | HI'| 20 BER% 20 1.0 20 1.0 : ; : ; : ; :
. 50X 20 1 20 1 20 1
19 20 | HI'| 20 BER% 20 1.0 20 1.0 : ; : ; : ; :
. 50X 20 1 20 1 20 1
20 20 | HI'| 20 BER% 20 1.0 20 1.0 : ; : ; : ; :
. 50X 20 1 20 1 20 1
21 30 | HI'| 20 BER% 30 1.0 30 1.0 : ; : ; : ; :
. 50 X 30 1 30 1 30 1
22 50 | HI'| 20 BER% 50 1.0 50 1.0 : . : . : . :
. 50 X 50 1 50 1 50 1
23 20 | HI'| 13 BER% 20 1.0 20 1.0 : ; : ; : ; :
. 50X 20 1 20 1 20 1
24 25 | HI'| 20 BER% 25 1.0 25 1.0 : : : : : : :
. 50X 25 1 25 1 25 1
25 50 | HI'| 13 Bk 50 1.0 50 1.0 : : ; : : . :
. 50 X 50 1 50 1 50 1
26 50 | HI'| 20 Bk 50 1.0 50 1.0 : . ; - : . :
. 50 X 50 1 50 1 50 1 1
50 3 50 1 50 1




R —5

7y o7V | hoTue | xz |[HrrET . K iR Wk || VT ETA [ Hs HI .
77 R4 Z g ! SF R g =y [EE g 4 U )L s I A
% s x| ;l\]/l W +T HIVP votror | vk |praa—| p— Bars payyer TN 6% 50 T | g 150 pvzc(%¢ HIE AR 00 | s HIV o BERVAS 53 KK
M| f# %
X 1H 44 FR " & O | mo | g | omo | O | E | g | | ng | | g | B | e n g | e | e | Es | ngs | ek T4 T4 T4 T4 FUBR | (B | O | | e | R | | e | A k| B
27 50 | HI | 20 | BE#& 50 1.0 50 1.0 50X 50 1 50 | 1 50 | 1 1 50 | 3 50 | 1 50 | 1
28 20 | HI| 20 | BE#% 20 1.0 20 1.0 50X 20 1 20 | 1 20 | 1 1 20 | 3 20 | 1 20 | 1
29 20 | HI| 13 | BE& 20 1.0 20 1.0 50X 20 1 20 | 1 20 | 1 1 20 | 3 20 | 1 20 | 1
30 30 | HI| 13 | BE& 30 1.0 30 1.0 50 % 30 1 30 | 1 30 | 1 1 30 | 3 30 | 1 30 | 1
31 30 | HI| 13 | BE& 30 1.0 30 1.0 50 % 30 1 30 | 1 30 | 1 1 30 | 3 30 | 1 30 | 1
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